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SA-FB L SA(3) - MEAY - BLS o pJE-1 =Rl
AZ=D|IEE 6,834,422 7,108,672 N274,250
= 50,000 50,000 0
625,727 625,727 0
= 440,750 368,000 72,750
= 5,717,945 6,064,945 A 347,000
HEds J|Btst=s 6,688,330 6,962,580 N274,250
2 50,000 50,000 0
P 625,727 625,727 0
S 440,750 368,000 72,750
= 5,571,853 5,918,853 A 347,000
d=72 M=z =X 1,776,700 2,207,700 A431,000
= 366,000 353,000 13,000
= 1,410,700 1,854,700 A444,000
d=2U3 |X 1,242,700 1,686,700 A444,000
201 eI 228,100 298,100 A70,000
03 &HArZZHI 223,000 293,000 70,000
O 20084 LIAE STELAHSI(04E) 0 10,000 210,000
O 2008 ®INSST AYH(GIUZD) 0 50,000 £50,000
O H3s) 2HBYLIBI| HALUSDHA LS 0 10,000 210,000
301 et A= 27,500 46,500 A 19,000
10 AL HI2&= 19,500 28,500 A9,000
O Lol HY ISR BA HA(HHZ 307-042 2HF) 0 9,000 £9,000
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A AXZXD|IEE
g M=sdE JIEHES
& M= MsUE =X (9 ®a
SA-FB L SA(3) - MEAY - BLS 0 & o4 01 & o B2
12 JIEt2 &3 8,000 18,000 10,000
O AZXOHE SUBAz (MU, 307-022 SHY) 0 10,000 10,000
307 QIZtolA 970,000 1,325,000 A 355,000
02 QltFAEX 10,000 0 10,000
O AZX0OHE SUEAS(301-1201H SHE) 10,000 0 10,000
04 QIZHHAIE X 960,000 1,325,000 A365,000
O M0 =3I MEMSHEI LA AU (0 AE2) 0 60,000 60,000
O 20084 UWAHE SRR US (0&EZ) 0 60,000 60,000
O 2008 MIHEZPHWXA (0l AHE2) 0 190,000 190,000
O HM343 Rt 2)| d=aEg0s0HA dAAHS (MR 0 55,000 55,000
H2slZol=2 481 =HMAILIO OOt S CHSl (B X) 13,000 0 13,000
= 13,000 0 13,000
201 YB3 13,000 0 13,000
= 13,000 0 13,000
03 &HAr2EHI 13,000 0 13,000
O H23 2=t 2 M AILIO OtOtBISUE (& A) 5,000,000& =« 13 5,000 0 5,000
= 5,000 0 5,000
O H23l 2=t 2HM AILIO OlOtEIS S (S8 A)
Z& 13,000,000& - JI& 5,000,000& 8,000 0 8,000
= 8,000 0 8,000
st ¥ delEXNE §4 1,060,185 1,045,185 15,000
& 15,000 0 15,000
i 1,045,185 1,045,185 0
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AT =I|2E
MSXE Jststs
St Y ARIEHS chel e
CERI(EIH) - NRAY - B S =2
AgE 84 401,904 386,904 15,000
= 15,000 0 15,000
2 386,904 386,904 0
301 YerEy 401,904 386,904 15,000
= 15,000 0 15,000
2 386,904 386,904 0
(I = 401,904 336,904 15,000
O Z¥yes 15,000,000% * 1€ 15,000 0 15,000
< 15,000 0 15,000
MEHS Q170 X 632,290 620,540 11,750
125,727 125,727 0
3 14,750 15,000 A250
2 491,813 479,813 12,000
A= HSHE N 388,486 376,486 12,000
307 BI2H0I 388,486 376,486 12,000
04 QIABAEE 378,000 366,000 12,000
O oz (301-1001 M =) 9,000 0 9,000
O H53l ¥ BOHS M3 3,000,0002 3,000 0 3,000
NEVEECIPYES 4,750 5,000 £250
3 4,750 5,000 £250
307 B12H0I 4,750 5,000 A250
= 4,750 5,000 A250
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S AEX)|EE
dH: HsdE J|HES
ool MENS 22 MEEH (chel: =3
SA B SA(SH) - MBAY - BES 0l & 2 pJE-L! ==l
04 QIZFSHAIE X 4,750 5,000 A250
O HM20al el SHa sS&83HIXA Z& 4,750,000 4,750 5,000 A250
S 4,750 5,000 £250
SSEHMEANE &5 2 FH 2,962,298 2,832,298 130,000
= 50,000 50,000 0
Il 500,000 500,000 0
< 45,000 0 45,000
i 2,367,298 2,282,298 85,000
dFZ HOIEEE HE 130,000 0 130,000
= 45,000 0 45,000
= 85,000 0 85,000
401 AEHIZ =20 130,000 0 130,000
= 45,000 0 45,000
= 85,000 0 85,000
04 Al&H| 126,750 0 126,750
O d&E= AHNOESH HE 130,000,000& = 97.5/100 126,750 0 126,750
T 43,875 0 43,875
i 82,875 0 82,875
05 Zclhl 2,314 0 2,314
O d&E= HOE=SH HE 130,000,000& = 1.78/100 2,314 0 2,314
& 801 0 801
[ia 1,513 0 1,513
06 AIZ=0HbI 936 0 936
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DTHSAL 25 (chel: &
B S2(3H) - MRAY - B LS 0f &F oA HRS
212 130,000,000 * 0.72/100 936 936
= 324 324
2 612 612
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